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ENVIRONMENTAL SCIENCES

1. Who received the Nobel Peace
Prize in 2004 for Greenbelt Movement?
(A) Dian Fossey
(B) Jane Goodall
(C) Rachel Carson
(D) Wangari Mathai

2. Which one of the following is an
environment-friendly agriculture system?

(A) Crop residue burning

(B) Organic farming

(C) Use of chemical fertilizer
(D) Use of pesticides

3. Which of the following
microorganisms is widely used as a
biocontrol agent in organic farming?

(A) Rhizobium tropici

(B) Trichoderma viride

(C) Nostoc muscorum

(D) Fusarium oxysporum

4. TUCN Headquarter is situated at

(A) Gland
(B) Paris

(C) Vienna
(D) New York

5. Which one of the following

combinations is incorrect?

(A) Herpetology — Study of reptile and
amphibia

(B) Ornithology — Study of birds
(C) Entomology — Study of insects
(D) Malacology — Study of mammals

1. 8975 SR & (& 2004 AN &
/i@ 7 Al 2
(A) TIFE 0
(B) (&tel @©9[e]
(C) <osT B
(D) eTmEIfE WA

2. Eeie @@ R R =
(A) TR SRFBIRET w2
(B) T Bl
(C) IR AFT TI=F
(D) JIOHES 2

3. (spi@ fasfeiis @ w9ER e
terafeEs RReTa aage 232
(A) Rhizobium tropici
(B) Trichoderma viride
(C) Nostoc muscorum
(D) Fusarium oxysporum

4. TUCN-¢3 "4 nred ([ SQze
(A) 7S
(B) =itz
(C) e
(D) oes

5. fsfiie @F Fom B T

(A) RACIGEAG — AP @ TObER
R ISEORE

(B) SRS — 21 7ifFe Rwnins

(C) ATBITEAL — (ofm i fmpiss!

(D) @S — B TifFe
o6
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6. ‘Agent Orange’ is a
(A) Weedicide
(B) Nematicide
(C) Fungicide
(D) Rodenticide
7. Hoyle’s supernova hypothesis on origin of
the Earth includes
(A) Three stars
(B) Primitive sun and companion star
(C) Four star and one sun
(D) Five star and nebular blast

8. Organic materials which do not contribute
to increase BOD in water is/are—

(A) Decaying plant and animal matter
(B) Chlorinated hydrocarbons

(C) Sewage

(D) Nitrates and phosphates

9. Pathlengthin Remote Sensing is the sum of
the distance between

(A) Sun and the object on the Earth
(B) Satellite sensor and the Earth

(C) Sun-Earth and the Satellite Sensor
(D) Satellite Sensor and the Sun

10. Although sodium and potassium have
approximately equal concentration in nature, the
water of the oceans are relatively
enriched in sodium because
(A) Potash feldspars have low stability
relative to plagioclase feldspars
(B) Sodiumischemically morereactive
than potassium
(C) Potassiumentersreadily into newly
formed clay minerals while sodium
tends to remain in solution
(D) Sodium is stable in the weathering
environment

6. ‘TS SIAG T G
(A) SRl
(B) fniarize
(C) Al
(D) @TEFoaTE
7. 2R 2@ETE (Hoyle) FJoiacret
RAREE 7 Tege T
(A) &< Ot (Three stars)
(B) wiifws 91 @ 372pa O (Primitive
sun and companion star)

(C) b7 ol 8 &6 ﬂ}l/(Four star and
one sun)

(D) #iit O/l ¢ @ETR Ko (Five

star and nebular blast)

8. ter »mie @G/@ef e BOD Alwics
HAR] I & —
(A) “I5ie1 T @ 2lifrere omief
(B) GIRGITT Fergeda
(C) TiF ST & (Sewage)
(D) REE G3R TG

9. R @R (Remote sensing)-9< ALy
271 (Path length) ( 767 7099 (o
(A) T @R fAFF @@ @ 9o
BRask:
(B) TGN CpT @3k 7JfaSt
(C) T-5fa @R FIGARS G
(D) GRS G @3 I

10. Ifre N @3 ABiREE aFfore
@O T A, 8 T e
CICAIGTE ~Afle WeaERreitd (@, = Fe 261

(A) SRS @FTIET o Ao
FTTNER BioRee 3%

(B) PRI GG #BiRIRE et
SITRSITRIIE]

(C) i 33 s1zre SwI «fe
M A 0 e ETfeR w1
Toifzs A

(D) ENfeN SRR i qfEe
S AR




11. Methanogens are
(A) Aerobic bacteria
(B) Obligate aerobic bacteria
(C) Obligate anaerobic fungi
(D) Aerobic fungi

12. Match List-Iwith List-11. Identify the correct
code from the codes given below:

List-1

(a) Ecological niche
(b) Ecosystem

(c¢) Greenhouse effect

(d) Green Chemistry
Codes:

@ ® © @

A) @Gv) (@@ @G (i)

B (@ @) aGv) (D)

© @O Gy @G aGv)

D) Gy G G 3Gv)

List-11
(1) J. Fourier
(i1) J. Grinnell
(iii)) A.G. Tansley
(iv) P. Anastas

13. If a species has 50% or greater probability
of extinction within 5 years or 2 generations, then
according to IUCN Red List categories it falls
under

(A) Critically endangered species
(B) Endangered species
(C) Vulnerable species
(D) Threatened species

14. The population size of a K-

strategist population is

(A) Variable and usually below the
maximum the environment can
sustain

(B) Constant in equilibrium, near the
maximum the environment can
support

(C) Variable in equilibrium and above
the environment can support

(D) Always constant and environment
never supportive

33

11. R 25
(A) PG TRER
(B) TSR (Obligate) G RGN
(C) JRTOrEF (Obligate) SRIYENS! 2aIF
(D) G 2w
12. fer5-1-93 A fero-11-93 TE 330 |
fsfeiRe @esi (@ A7os @eb e ae

e -1 &G -11
(a) AAEIWE W (niche) (i) (& PRAR
(b) EST (i) ce. fars
(c) a2 aws (iii) «. f&. B
(d) fom =3 (iv) ol Sp=eom
TIPSR -

@ (b)) @© (@
(A Gv) @) G (i)
B) () i) (v) (i)
© @ @Gy G o aGv)
(D) Gi)y @i @) (@v)
13. IUCN-93 ‘@T forb Hicesifa’
S @I e 50 o A o
wIfa T 6N 5 T2eEE Al 9 e
g [ 2937 TBRAERS, O @ 27
(A) TR0l fAomerss (critically endangered)
Aefs
(B) fR#marg (endangered) Aeife
(C) SIFWRAEE (vulnerable) 2eifs
(D) SI*FG< (threatened) &S
14. ‘K-ZIGers  29w™a  (K-strategist
population)-4g GRS AO (population size)
Egl
(A) ARG QIR ANTS I A
e @ owea ATt T A
(B) SRAIGT &3, A4 IR @
Fq #fREe B A
(C) SIAIGT ATSTNe @R WfEF @
(D) ! << Q3R AR FUENZ AR
I
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15. Which area of the following in the marine

environment can be compared with the tropical
rainforest of the land in terms of
biodiversity?
(A) Abyssal zone
(B) Euphotic zone
(C) Bathyal zone
(D) Coral reef

16. Consider the following statements:

(a) The first biosphere reserve of the
world was established in 1979

(b) In the world as per
UNESCO, July 2021 there are 714
biosphere reserves

(c) FirstbiospherereserveinIndiawas
Nilgiri declared under the

notification on 1996

Latest UNESCO protected
biosphere reserve in India is Panna
biospherereserve, declared in 2020

(d)

(e)

Sacred groves are community
forests representing potential site
for ex-situ biodiversity
conservation

Choose the correct answer using codes
given below:

Codes:

(@)
(A) True
(B) True
(C) False
(D) False

(b)

True

(©)

False

(d)

True

(e)
False

False True False False

True True True False

True False True False

X-6

15. e AL sl sy (marine

environment) (& S&0E GREb@a Wi
TSI G ([R5 - a3 03 OoTell 1 27 2

(A) STRIZETE (Gl Al ST
(B) TS (ol Al iz
(C) wiZeT (eriw i e
(D) iz e

o o~

fsfeifie gfowf sl s -

(a) 7Jfedice 2w qAEFEr Fwe
afsfre =1 1979 AT

(b) UNESCO-93 & SR (2021,
oere) sffedics 7140 QiR
Rers’ s

(c) 1996 AT el SRRl eRred
22 AR e fem Tt

(d) 2020 AlET UNESCO-¢@3 “7fFe
AR ReS a3 e SRSt
% za1 ‘ol AifFeaR ers

(e) ‘“7iff@ A (Sacred groves)
25 G GAGID e T 7
Fip &R FRTHET GF 0 I
e

R @ost @ 7B Tet [

16.

PP -
TIPCHIZ :
@ o @© @ ()
(A)7e] gy ey ey e
(B) oy ey ey fyep e
€) fegl g Sy ey e
(D) W2y ey fep ey e



17. Endemic species are species that
(A) Species those are very likely to
become extinct in the near future,
either worldwide or in a particular
political jurisdiction
(B) Species those have additional
protection during the breeding
season to protect their nests, eggs
and dependent young

(C) Species those are threatened with
extinction unless the circumstances
that are threatening its survival

(D) Species those are restricted to a
geographical area and do not occur
naturally in any other part of the

world

18. In which year Biodiversity act was enacted

in India?

(A) 2000
(B) 2002
(C) 2004
(D) 2006

19. ‘National Biodiversity Authority’ was
established in which year?

(A) 2001
(B) 2002
(C) 2003
(D) 2004

20. The working principle of a spectrophotometer

is based on

(A) Lambert — Beer Law
(B) Charle’s Law

(C) Boyle’s Law

(D) Kirchhoff’s Law

21. The organisms which get energy by
consuming dead organisms are called

(A) Consumers
(B) Decomposers
(C) Predators
(D) Scavangers

X-7
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17. Geh 2elfs ze

(A) ¢ gwife qt 47 TeIe W
SfRyCe ARy S (I G
AR AT AT Ty
Rl 2877 TSR W(g

(B) @ 2SifeF Ty ATHICE Aol
S (el 7, @RI it A,
o @2 TSae e A

(C) @ =eifen oy zes Sife @,
Towe el Ao e s=za
AT CIfosw I 27

(D) @ &l (FI GG oo =t
A At @3z RS @i
AFfo Tz el T 1

18. (I A SR SN2 ST ble] T2 23 2
(A) 2000
(B) 2002
(C) 2004
(D) 2006

19. ‘wroR Gcafoar F$2RF (National
Biodiversity Authority) %< Aoz e
(A) 2001 >1iest
(B) 2002 AltsT
(C) 2003 AltsT
(D) 2004 >iesT

—e

20. CPQIFCOINDOICHS IR Afe @ba eox

RG]

(A) == - 7 o
(B) BIFF1-93 7@
(C) I@E-47 74
(D) FAHF-93 7@

21. @ I8 G o G (@ & 71296 I
OIS A

(A) FAfEreE
(B) fSar=ireniz=
(C) feiteszm

(D) ZHiteTeIaA
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22. The farming done on a patch of land by
cutting and burning of a forested area is called

(A) Natural farming
(B) Shifting cultivation
(C) Primitive farming
(D) Forest farming

X-8

22, SR @I G0 SR ITSCE 0l 8
(TSI (cutting and burning)-43 M FRP
FACF o1 =

(A) 2o b
(B) Z=Iefe 5I¥
(C) =fas 57

(D) =76 TRk

23. What percentage of energy is transferred
from one trophic level to the next higher level?
(A) 10%
(B) 20%
(©) 50%
(D) 100%

24. The Virtual water refers to
(A) Water consumed during the process
of production of a food item
(B) Invisible water present in the
atmosphere
(C) Water present in living organisms

(D) Amount of water present in frozen
state

25. Who is the author of “The Great

23, 9 *eiH *f& @ 9P (trophic

level) (2 #AqS] SR BISe =02
(A) 10%

(B) 20%
(C) 50%
(D) 100%

24, 5T & (Virtual water) 610 (@RI

(A) @ AMERy TV SAferR o)
G RIS

(B) RS (atmosphere) &I Sv=]y
©e (invisible water)

(C) Gifte 2id Wy Soifgs e

(D) famifre o193l (frozen state)-3 GeT4
“AfTIel

Derangement : Climate change and the
Unthinkable”?

(A) Rachel Carson
(B) Al Gore

(C) Naomi Klein
(D) Amitav Ghosh

26. Hydrographisa graphical representation of

25. “The Great Derangement : Climate change
and the Unthinkable”— 32103 (5145/ (ST (2
(A) e FIA
(B) =0« ¢alies
(C) RIR et
(D) fvere @™

26. F2@EAT T @G AfFFA (graphical)
Torgiolel

(A) Surface run off

(B) Groundwater flow

(C) Rainfall

(D) Discharge flowing in the river

(A) A A SF
(B) ¢oIv% &TH 212
(C) qfRstre

(D) IS &I 2[E
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27. Lake formed in a cut-off river meander is 27. R Q= (river meander) (ACF (& tsfa
called 2870 37 21
(A) Oxbow lake (A) 435S g (Oxbow lake)
(B) Playa lake (B) =R aw
(C) Crater lake (C) @5 e
(D) Meteoric lake (D) ek o
28. Darcy’s Law in some case is not valid in 28. TRPE 3@ (Darcy’s Law) e
one of the following: @B (g ey AR ey 77
(A) Clay (A) G
(B) Silt (B) Gl
(C) Fine sand ©) W?ﬂ%f
(D) Coarse gravel
(D) ot %
29. Richter magnitude in earthquake 29. i oy [40F W@l 25
measurement is (A) log,, (;P7ex BT um-9)
(A) log,, (minimum amplitude in um) (B) log,, T R um-9)

(B) log,, (maximum amplitude in pm)

(C) log,, (FPTox STHWT um-)

(©) log,,(minimum wavelengthin pm) (D) log,, ( ST TR pum-)

(D) log,,(maximum wavelengthinpm)

30. Whatisthe latest number of Ramsar sites in 30. SN TR (T A SRR A
West Bengal? M6 ?
(A) 4 (A) 4
(B) 2 (B) 2
©) 3 © 3
(D) 1 (D) 1
31. Southern part of Pangea is known as 31. “hiwiemE niwe w1 @ e AAfRbe
(A) India (A) wI®
(B) China (B) 5
(C) Gondwana land (C) RIS
(D) Eurasia (D) oM
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32. Which mountain range of India is more
earthquake prone?

(A) Vindhyan range

(B) Himalayan range
(C) Bundelkhand massif
(D) Deccan Hills

33. Ghyben-Herzberg relation between fresh
and saline water can be explained by the formula

(A) Z=40 Iy
(B) Z=20h
(©) Z=2h

(D) Z=100h

34. Sea floor origin of earthquake causes
(A) Cyclone
(B) Tsunami
(C) Tornado
(D) Typhoon

35. Health of vegetation can be
monitored by developing sensor based
algorithm which is known as

(A) Vegetation Anomaly
(B) Vegetation Property

(C) Normalized Difference Vegetation
Index

(D) Vegetation Development Index

X-10

32. OCed (@ Ao wfis giiarize 2
A) 7w @g
(B) f=ulera caig
(C) IeweTdes I
(D) (Tl faery

33. feaie @ e R (W8 e e[de o
Tl QigrEw-grealsf (Ghyben-Herzberg) ol
(A) Z=40 h;
(B) Z=20h,
©) Z=2h
(D) Z=100 hy

34. TS 7 G A WO, ©f 28
(A) R
(B) e
(C) Beitsl
(D) BiRgw

35. TP fsa syeifaws] Eite F0a Sferea
Frgy »Rfawel #Ifafos = @oIE

(A) CoT&HIe Sy
(B) cefeoie =il
(C) wlieizers G Sfemm=m 2oeH

(D) CST&HHT (BSEIIG 30T




36. Supergene sulphide enrichment for mineral
exploration can be inferred using the spectral
region

(A) Visible

(B) Near Infrared
(C) Thermal

(D) Microwave

37. Transmissivity of the aquiferis proportional
with
(A) Declining water level
(B) Hydraulic conductivity
(C) Recharge of the aquifer
(D) Influent condition of the aquifer

38. The water flow of an aquifer can obey
Darcy’s law, if

(A) Reynold’s number is more than
2000

(B) Reynold’s number is less than 1

(C) Reynold’s number is more than
100

(D) Do not obey Reynolds number

39. Clay is considered to be an
(A) Aquifer
(B) Aquiclude
(C) Aquifuge
(D) Aquatic rock

X-11 33

36. S PRI Gely AT ATRIZG A
@ CHARGIE L AIRIES T T&IcE Tofere
26 AW

(A) fefeaes

(B) TR~ (T
(C) rsfieT

(D) EFICEY

37. Sy GNP TR A0 e
(A) ST @IS = e
(B) 22gfd IS0
(C) SrTR-ad fapre 341
(D) SUFEFI-4F TEAZ TZ|

38. SIFTIE GETH 21T BIKP1-1 31q T+ FF,
T

(A) @ENEER R4 2000-97F SfEF =7
(B) @CTR ALl 1-93 (T 9 T

(C) @=rEa W4l 100-4937 (A SF 27
(D) @ENCSR FRANE S+ I

39. FMI-(F 6T =
(A) IFETE

(B) SIFEFT

(C) SriFEfRree
(D) UMD #fieR
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40. The distance from the center of a pumped
well to the point where the draw down is zero or is
inappreciable is known as

(A) Piezometric surface
(B) Cone of depression
(C) Radius of influence
(D) Diameter of influence

41. Choose the correct combination of state
bird and state animal of West Bengal:

(A) Crow and Tiger

(B) White brested kingfisher and
Fishing cat

(C) Sparrow and Elephant
(D) Common Myna and Gaur

42. The water yielding capacity of a confined
aquifer can be expressed in terms of

(A) Transmissivity
(B) Storativity
(C) Specific retention

(D) Hydraulic conductivity

43. Ocean-Grabbing and Ocean-Encroachment
are associated with

(A) Oil spilling

(B) Oil drilling on the shores
(C) Hijacking of ships by pirates
(D) Big fishing concern

X-12

40. G AFBITe FTFAT (X (A @ THCT
QOITH %[+ A1 A T I, OIS

(A) Preeiels A=
(B) I =1 e

(©) ST o 2egrcarm
(D) ©HRIRGI o7 2

41. ISy o G2 A5y Al T A6F @b
e a2 -

(A) IF @3 A

(B) Wl I8! 2Nl @32 (02l K=
(C) bUR ¥ e

(D) R T @32 SNE

42. AT - T ST AT
(FOIF AFH 1 2

(A) Gt
(B) oibfe
(C) ciffs faGa=ia

= I

(D) ZRTEF FACFH ]

43, F]TE W € W S @ @H
ARl TifFe
(A) ST Piferg
(B) TS (T <
(C) TETr] 6T GG F3ETF 41
(D) SIfsfa& N TredEd ARG e

Taol
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44. According to Indian Meteorological
Department (IMD) a storm s classified asa ‘Super
cyclone’ when the wind blows for a 3-
minute mean maximum sustained speed

of at least

(A) 150 km/h
(B) 180 km/h
(C) 220 km/h
(D) 240 km/h

45. Land subsidence may take place if

(A) Geostatic pressure exceeds aquifer
fluid pressure

(B) Aquifer fluid pressure exceeds
geostatic pressure

(C) Geostatic pressure and aquifer fluid
pressure remains same

(D) Aquifer fluid pressure exceeds
suddenly

46. Identify the correct sequence of following
materials in terms of their grain size:

(A) Silt > Sand > Gravel > Clay
(B) Gravel > Silt > Sand > Clay
(C) Sand > Gravel > Silt > Clay
(D) Gravel > Sand > Silt > Clay

47. Earthquakeearly warning can be possible if
(A) Rainfall increases
(B) Groundwater level fluctuates
(C) Sealevel rises
(D) Flood occurs

44, SRS TS| TFOEH MO SEPAIE G0
G FAE AL T2 I 8 AL AP 5
A fou TG Bt sifs 2o

(A) 150 km/h
(B) 180 km/h
(C) 220 km/h
(D) 240 km/h

45. gﬁ 01 e (Land subsidence) 96C® 21GA
w43 I
(A) &I Blvl SHFRFE FBT BICo
(A @M

(B) SUITEFE FBT b7, feresbiilbs vicsa
(T M

(C) f&resbribss € SIPEFIR FRC bI=f 1

(D) STFETR FIT Bi5t 2II (@TT A

46. fasferiie SoAmmelR S g@e owR
(grain size)W@ﬂ&D R e T2
(A) #ife1 > Aifet > FE > FmENH
(B) T > #ifet > Aife1 > Fwisi
(C) e > T > #ifer > FwH
(D) 9% > Fifet > #fer > FmIG

47. SR T FToFe! 7ed 27 I
(A) IS AT
(B) ©9I$% TR WA Oes)
(C) g ST Jfa =
(D) <= =¥
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48. In which FEra photosynthesizing
cyanobacteria first evolved?

(A) Paleozoic
(B) Cenozoic
(C) Pre-Cambrian
(D) Mesozoic

49. Which gaseous material is used for the
synthesis of Methyl isocyanate?

(A) Chloranil
(B) Phosgene
(C) Sevin

(D) Chlorine

50. In Ehrlich’s equation [I = PxAXT]
P denotes
(A) Pollution
(B) Poverty
(C) Population
(D) Policy

X-14

48. (& ol (Era) 22 AETIARCETIEG!
ARG CEo 232

(A) Arfsrsrelfi
(B) Pr=itenzie
(OREEInIERI
(D) ISR

49. WA AREIARIGS (ofHce @I shHAw
Tolviel LT 9 T2

(A) @Eife
(B) wAfe
(C) Gifes
(D) Gfea

50. Ehrlich’s 754 [I=PxAxT] P @R
(A) ARTEH
(B) it
(C) 7T
(D) #feti



51. What amount of K,Cr,0O; is required to

prepare 250 ml (N/10) solution?
(A) 2225¢
(B) 1.225¢
(C) 0.225¢
(D) 1.525¢

52. Tag-polymerase enzyme is used in
(A) HPLC
(B) GC
(C) PCR
(D) ICP-OES

53. Match the List-1 and List-11. Identify the

correct match from the codes given below:
List-1 List-1I
(a) Nephelometer

(b) Pulsed Fluorescence (i1)) NOx
Analyser

(¢) Chemiluminescent (iii) SO,
Analyser
(d) Atomic Absorption (iv) Turbidity
Spectrometer
Codes:
@ ® © @
A @) @) @Gv) (i)
B) G) @) G aGv)
© @Gv) @G @G @)
D) (Gv) @)  G) @)

(1) Heavy metals

33

51. 250 ml (N/10) @3¢ (S 1 &) F© wAfaiel
chr207 W 27 °?

(A) 2225 ¢g
(B) 1.225¢
(C) 0.225¢
(D) 1.525¢g

52. Taq-?IfeTIES SEHF @A 9T

(A) HPLC
B) GC

(C) PCR
(D) ICP-OES

53, [fap-1-a3 A el (e |

e Mo @ A Teal Fefa

T

e 1 e -1
(a) FCFERGR (i) oIF 4re

(b) AR FCIE™ SyIEIRER (i) NOy

(c) FRFREET SHEReR (iii) SO,

(d) SUBRRe SRER7=i (iv) Srffeh
IR GEIRGIE

HCFOHIR :

(@ G ( (@
@A) @ @) aGv) o (1)
B) ) (@) @ (v
© Gv) () @) @)
D) Gv) () G (G
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54. Match the List-1 with List-11. Identify the
correct answer code from the codes given below:

List-1 List-11
(a) Monitoring of CO from (i) Flameionization
exhaust emission
(b) Measurement of (i1) NDIR
PAHs in air sample
(¢) Measurement of HCs (i11) HPLC

(d) Detection of (iv) Column packing

organophosphorous by zorbax ODS
pesticides and effluent as
methanol/waste
Codes:

(@ G ( (@
@A) @ @) aGv) o (1)
B) ) @ () (Gv)
<€ GaGv) G @®O (i)
D) Gy Gy @G Gv)

55. Arsenic mobilization in groundwater is
possible, if
(A) draught occurs

(B) over exploitation of ground water
takes place

(C) flood occurs
(D) land subsidance takes place

56. In potassium dichromate (K,Cr,0-), find
out the oxidation state of chromium

(A) 12
B) 1
©) 6
D) 3

54, fopG-1-43 M el o | fagfafs
O (ACF AT Tad’ @efz Feret
e G|

(a) c&m fsfea () GSNeRTEH
M fefs CO

(b) O™ (AF PAHs (i) «=.%. =03, =19
feieotel (NDIR)

(c) HCs W=l (iii) «2p.fot. «7. 57

(HPLC)

(d) SRNEFAFAR  (iv) Zorbax ODS
(organophosphorous) PRSI RIS
I ol a3k feiwe/qef

feTsis
FLFOTIZ :

@ G © @@
@A) @ @) aGv) o (1)
B) ) @ () (Gv)
<G GaGv) G @O (i)
D) G Gy @G Gv)

55. 9997 TR S (ifERcemE el
=z,

(A) d=F
(B) ©9IeR Gieid SIfolie (el 27
(C) I =

(D) il <o =

56. S[GIRRIN BRFIGH (K,Cr,0,)-4 (ifmm
-9 SRR el T

(A) 12
(B) 1
©) 6
(D) 3
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57. Ozone of which atmospheric layeris helpful
in blocking the Ultra Violet (UV) radiation?

(A) Stratosphere
(B) Troposphere
(C) Mesosphere
(D) Ionosphere

58. Which one of the following statements is
correct?

(A) Pyrolysisisanexothermic process,
which takes place in the absence of
oxygen

(B) Pyrolysis is an endothermic
process, which takes place in the
absence of oxygen

(C) Pyrolysis is an endothermic
process, which takes place in the
abundance of oxygen

(D) Combustion is an exothermic
process, which takes place in the
absence of oxygen

59. Which of the following toxicant is not
responsible for inducing pulmonary oedema?

(A) Ethylene oxide
(B) Arsenic

(C) HCI vapour
(D) Ozone

60. Disaster Management Act was enacted in
India in the year

(A) 2006
(B) 2007
(C) 2005
(D) 2004

57. AL (I B S HSGSIRIETO (UV)
MR SAGHICS AR FC 2

(A) FEIFFTR
(B) @ieaitza
(C) AR
(D) SIRIIFFTR

58. fsfiie Rgfoulem @imm Al ?

(A) “AiZcEThm @t gl afemn,
@M% SfFeE SeiEfere =@

(B) iZ@mER™ «af areific e,
@M% SfFeEs SeiEfere =@

(C) SAREFERM «af areific =fe,
@S wfeE dpE =@

(D) vz @3 aeEneifis afew, @b
ST SeeiEiere 23

59, fasfeie fare greiE Sy @ab Sl
BOGA - T I A7 2

(A) 2 sErze

(B) =i

(C) TG =nifre qrst
(D) ST&Iw

60. oI FIPI T2 SIS (@ I Bis] 1
=
(A) 2006
(B) 2007
(C) 2005
(D) 2004
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61. Secondary treatment of wastwater is based

on
(A) Microbial activities
(B) Physical processes
(C) Chemical processes

(D) Both physical and chemical
processes

62. How does PCBs impact birds?
(A) They decrease the memory
(B) They cause reproductive failure
(C) They cause bird-flu
(D) They cause indigestion

63. Consider the following statements:

(a) Chlorofluorocarbons are
commonly called as Freons

(b) Freons are extremely unstable

(c) Duringinhalation Freonscause very
minute symptoms

(d) Freons are helpful as propellants
for aerosols

Choose the correct answer from the codes
given below :

Codes:
(a) (b) © @
(A) True False False False
(B) False True True False
(C) True True False False
(D) True False True True

64. Which metal catalyses both the
oxidation and reduction reactions in catalytic
converter?

(A) Platinum
(B) Zinc

(C) Magnesium
(D) Aluminum

61. ISR (N Toers @ “afoq qiel weae
7, 9l 2+

(A) TEeFIEe SR

(B) (oT® “mfe

(C) IS 2w

(D) (ST @3 APTRNF ToF simfs

62. IR Toitgr PCB-%feg 2o el
ST (L 2

(A) ORI BIHIE FHE @

(B) IRl 2T IO T 2SI A
(C) =i AC-F TR

(D) O IWZe WO

o e

. fferivs fRgfouf v s :

(2) FRFEPLIASRTE AT @l
=7 e

(b) freasfa SRS SR

(c) TeaieTa S fpes 47 AR o
e

(d) TFes QR BIF S PSR
FE

N 2Are FRCFOTZ (AT AT Tedd
F"RI/TW P :

MIFOITIZ -

(a) (b) (©) (d)
A) o T e faen
B) Wt Wy Wy e
©) T g fue e
(D) T e KIS o)

64. FHfTiRe @ @l SfFesw a3 FoRmH
TSR e FomAEhs FTekta’-aq T

SO TS B ?

(A) #ifoam
(B) fer=

(C) iSRS
(D) wytepfarferars
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65. Dose-response curve is basically derived
from

(A) ‘One-hit’ type of model

(B) Threshold limit value

(C) Henderson-Hanselbach equation
(D) Gaussian curve

66. Which one of the following fertilizers
produce acidity in soil?
(A) Ammonium sulphate
(B) Sodium nitrate
(C) Calcium ammonium nitrate
(D) Calcium nitrate

67. ‘Bttoxin’ in genetically modified cotton is
effective in

(A) Acidic medium of the gut

(B) Alkaline medium of the gut
(C) Both acidic and alkaline media
(D) Neutral medium of the gut

68. National Ambient Air Quality Monitoring
(NAAQM) Programme was initiated by CPCB in
the year

(A) 1984
(B) 1980
(C) 1992
(D) 1998

69. ‘One-third Octave Band’ is defined
as a frequency band whose

@ f,=32(£,)

®) fL=2(£,)
© fu=Y2(1)
D) fr=~2(f)

65. (OE-EA+ @dbg Ao @ba @
A€ 2

(A) ‘ST 2D R S0 =il

(B) (2rIE foIisG st ==l

(C) XOIGAN-ZJIHTIID A _ial
(D) oitre @dfoq ==l

66. TS AHlr Ay @ AT
RECRDEE

(A) STIGITTIN AACEs

(B) A& w1i2E5

(C) FECRIN S TREe

(D) AR T2Eo

67. R SRw EEbmE Iewae w6 @
(A) ATBINAG ST S
(B) AR I S
(C) =BT 7 @ T T M
(D) A &S T

68. TN SHNRET @A @R
Sf5iRR (NAAQM) (2flalsy (Fedis w3 aifoaiy o
(CPCB) @ I &F
(A) 1984
(B) 1980
(C) 1992
(D) 1998

69. ‘GF-POITIH W(FO-AT -9 TG ZF

IR e TR
A f,=2(£)
®) f.=2(f,)
© fu=Y2(£)
D) fr=~2(f,)
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70. The ‘sound pressure range’ of human

hearing is

(A) 4x107° N/m? — 400 N/m?
(B) 3x107° N/m? — 300 N/m?
(C) 2x107° N/m? — 200 N/m?
(D) 1x107° N/m? - 100 N/m?

71. A ‘run-off river’ hydropower plant
(A) is a medium head scheme

(B) generates power during peak hours only

(C) is suitable only on a perennial river
(D) has no pondage at all

72. Match the following fuels given in
List-1 with their calorific values given in List-11.
Choose the correct matching from the codes given

below:
List-1
(a) Anthracite coal
(b) Heavy oil
(¢) Bituminous coal
(d) Natural gas
(e) Hydrogen fuel

Codes:

(a)
(A) (i)
B) (@)
©) (i)
D)

(b)
(iv)
(i11)
(iv)
(ii)

List-11
(i) 7600 Kcal/kg
(ii) 560 Kcal/m?
(iii) 11,000 Kcal/kg
(iv) 8500 Kcal/kg
(v) 150,000 kJ/kg

© @ (
a @
»H G W
(v) @) @
(iv) (v) (i)

X-20

70. RT FRACEF CHFG SO e za

(A) 4x107° N/m? - 400 N/m?
(B) 3x107° N/m? — 300 N/m?
(C) 2x107° N/m? — 200 N/m?
(D) 1x107° N/m? - 100 N/m?

71. G T o7 o’ swiyye 2% 26
(A) 9= T EufEs
(B) Qb wyg rges 7 Rje (o 3
(€) @ wymig @b I=LEA Tw Tog
ge
(D) A TEAMER TR @I ol
2

72. ERS oo -1-93 gienfaelem e
FrGI-a3 IR orestm W e @@
T2 | fferiie ez (A s Teal *me

PP -
e 1 e -1
(a) SINLPAIRG @& (i) 7600 (Kcal/kg)
(b) @S =Ie (i) 560 (Kcal/m?)
(c) RER@PT et (iii) 11,000 (Kcal/kg)
(d) =TS 5iT (iv) 8500 (Kcal/kg)
(e) TEGIte= @& (v) 150,000 (kJ/kg)
TLFOTIR :
@ b © (@ ()
(A) Gi)  @Gv) () @ (V)
B) Gv) @) @) G ()
© Gy  av) (v) @Gi) @)
D) @ () Gv) (v) (iid)
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73. Biogas generation is mainly based on the
principle of

(A) Degradation
(B) Fermentation
(C) Composting
(D) Purification

74. Which of the following has highest calorific
value?

(A) Methane
(B) Coal
(C) Petrol
(D) Hydrogen

75. Currently petrol is blended with
approximately of ethanol in India

(A) 2.5%
(B) 5.0%
(C) 10.0%
(D) 20.0%

76. Thermal power plants in India contribute
about of electricity

(A) 15-20%
(B) 35-40%
(C) 55-60%
(D) 75-80%

77. Which one of the following is an extensive
property?
(A) Specific heat capacity
(B) Temperature
(C) Entropy
(D) Refractive index

73. (@ JETO(gA ©AF (G (Biogas) SLoAMH
AgTe 97

(A) ferate=
(B) TRCI[GH
(C) FCAIPR
(D) TorSRRrE

74. RS @b A FEEe
wile] Wz ?

(A) Tieem

(B) e

(C) ¢~lG=1

(D) ZReglee

75. ArRfeFiE e GG 3EE
el (oot Sifere w1 =@
(A) 2.5%
(B) 5.0%
(©) 10.0%
(D) 20.0%

76. ©RCe SRR W Rpeife SeAmE
vl e
(A) 15-20%
(B) 35-40%
(C) 55-60%
(D) 75-80%

77. fasfefie @Wb 3t @amate gl e
(A) CIPiRrE 125 2P
(B) Soral
(C) 9=
(D) FFiive gares
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78. Theunit of rate constant (k) for areaction of
n'" order would be given by
(A) Litres™! moles' " sec™!

(B) Litres™! moles™ sec™!

(C) Litres' ™ moles' ™ sec™!

(D) Litres™! moles'™ sec

79. Whatis the Rate law for the acid hydrolysis
of an ester such as CH;COOC,H;s in aqueous
solution? ( k = Rate constant)

(A) k[CH;COOC,H;s]

(B) k[CH;COOC,Hs] [H,0]
(C) k[CH;COOC,H;]?

(D) k

80. Illness from inhalation of coal dust
results in

(A) Black foot disease
(B) Blue baby syndrome
(C) Anthracosis

(D) Itai-itai disease

81. Which is the first zone of filtration in a sand
bed?

(A) Electrolytic zone
(B) Heterotrophic zone
(C) Schmutzdecke zone
(D) Autotrophic zone

82. In which colour bag the placenta is
disposed off in hospitals as per Bio-medical waste
Management Rules, 2016?

(A) Red

(B) White (Translucent)
(C) Blue

(D) Yellow

78. n" =G [iEw cF@ @B SIS (k)9

BTG 2o
(A) Litres™" moles'™" sec™
(B) Litres™! moles™! sec™
(C) Litres' ™ moles' " sec™!
(D) Litres™! moles'™ sec

79. @6 @~ ST 2GR
(IS &1 e CH,COOC,Hs -3 (75
& (Rate law) ¥9? (k = (5 FP0ID)

(A) k[CH;COOC,H;s]

(B) k[CH;COOC,H;] [H,0]

(C) k[CH;COOC,Hs]?

(D) k

80. TGS Ylerml WAARCEIT el (T SPFel
IR
(A) ITEH ol
(B) g <f< Freegr
(C) SRR
(D) TOR-ZOR 9l

81. Rk @b e @ AeRe
AT BI ?

(A) TEFEEEGP e
(B) ROIRGR (&
(C) Hooee@ (e
(D) SIGERR (siw

82. ARG T Aol fFreT, 2016 SISt
A (A @I A Ao-9F N ANETo!
oA sl = e

(A) =TT
(B) I (GIIGT5)
(C) e
(D) zw
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83. The correct relation among the statistical
averages is

(A) AM =GM =z HM
(B) AM<GM <HM
(©) AM=GM =HM
(D) AM =GM <HM

84. The point of intersection of the ‘less than’
and the ‘more than’ corresponds to

(A) Mean

(B) Median

(C) Geometric mean
(D) Mode

85. The cholesterol content of large chicken
eggsisnormally distributed with a mean
of 200 mg and standard deviation of 15
mg. What proportion of these eggs have
cholesterol content above 205 mg?

(A) 0.2004
(B) 0.6293
(C) 0.3300
(D) 0.3707

86. The population density of CRZ IIIA as per
Coastal Regulation Zone Notification, 2019 should
be

(A) >2161
(B) 2161
(C) 1161
(D) <2161

87. Public Liability Insurance Act was enacted
in which year?

(A) 1995
(B) 1998
(©) 1991
(D) 1994

o o~

83. fawfiiie ManfwEe Touler W 7w
T ze
(A) AM >GM > HM
(B) AM <GM <HM
(C) AM=GM =HM
(D) AM >GM <HM

84, TENRIFN GR TR (AT AT
T TOROTEH-GF NG 25

(A) fi=

(B) ffaie

(C) ferermls o

(D) GIIe

85. ATl TeNefice @IEmEEaER sAfieR
¢ (mean) 200 mg 4 TGS ﬁﬂ% (deviation)
15 mg | «3 feaefm seg F seelite fSe@ S
(PIETEGAER AR 205 mg-93 €7 ?

(A) 0.2004
(B) 0.6293
(C) 0.3300
(D) 0.3707

86. (FPOE @RUEHH (@ @HRFEE, 2019
SEIEN CRZ ITA-CS SePiReTl 9oy 2931 &fbe

(A) >2161
(B) 2161
(C) 1161
(D) <2161

& s o

87. <<l HRfAT Tahreta™ =nig T Al
2T 1 2 2

(A) 1995
(B) 1998
(©) 1991
(D) 1994
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88. Which one of the following sustainable 88. FHfeTie (@I 7R THAeId o5 (SDGs)
development goals (SDGs) is connected to gender 75t FToIg AT FAlw 2
equality? (A) ¥ — 5
(A) Goal -5 (B) &% — 6
?(3:; goai - ?4 (C) =/ — 14
oal —
D -3
(D) Goal -3 (D) =
89. Environmental clearance of Category-B 89. HGIAIIE-B (A3 AR 2wiq
projects is given by Q@ 7T 7
(A) MOEF&CC (A) MOEF&CC
(B) SEAC (B) SEAC
(C) SEIAA (C) SEIAA
(D) CPCB (D) CPCB
90. Consider the following statements: 90. fslere Ryfowlr Sepi
(i) Fuelcellsare open electrochemical (i) G @R (Fuel cells) 26 I&
energy conversion and power IEFQIE N e I
generation systems. (electrochemical energy
(ii) Batteries convert stored chemical conversion) 43¢ *If& Seofve ]
energy into electricity and heat (power generating systems) |
(by-product) within a closed (i) % PIEEI-9a N Sge @R
system. @IS e @R Oist (Toieme)-9
Choose the correct answer: A T Ao |
(A) (i) is false and (ii) is true AT Teds *e Fe :
(B) Both (i) and (ii) are true (A) (i) T 9K (ii) A
(C) (i) is true and (ii) is false (B) (i) 9% (i) TeaE AT
(D) Both (i) and (ii) are false (©) (i) A= @R (ii) &
(D) (i) 9% (ii) T332 ool
91. Eco-labelling of commercial products is 91. WRAIRE AT S@-EERR @I 2=l
regulated by afge =
(A) ISO 14020 (A) ISO 14020
(B) ISO 14010 (B) ISO 14010
(C) 1SO 14040 (C) 1SO 14040

(D) ISO 14050 (D) ISO 14050
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92. Which one of the following is a green

category industry as per the guidelines of Central
Pollution Control Board, New Delhi,
2016?
(A) Pulp and paper
(B) Thermal power plant
(C) Poultry, Hatchery and Piggery
(D) Oil refinery

93. Which one of the following steps is not
included in scoping process of an EIA study?

(A) Baseline description of the

environment and potential
additional data collection
requirement

(B) Description of environmental
impacts and creation of
contingency plan

(C) Definingsetof criteriato assess the
project

(D) Setting of expert team that will
conduct the EIA study

94. Which one of the following organizations
established IPCC in 1988?

(A) UNEP and WMO

(B) UNDP and UNESCO
(C) UNICEF and FAO
(D) USEPA and IMF

95. In which year India has promised to cut the
emissions to net zero?

(A) 2050
(B) 2060
(©) 2070
(D) 2040

96. Compared to Carbon dioxide (CO,),
methane (CH,) has global warming potential of

(A) 40 - 50 times more
(B) 20 — 25 times more
(C) 5-10 times more

(D) 30 - 40 times more

92, I ac forEgel o1, 1S fufar, 2016 SweyiSt
e @ia e o e Mem oesfor
(A) #rE @R (oA
(B) 2AfeT “flexia 2%
(C) CAIG, 2yif @ forlifa
(D) wiEe fFerizafa

93. EIA- AT (F0g WFele @

Arewoef PR Amfod oresfe 772

(A) AREER @R 9 9R TSI
fofie wef 7R ARG

(B) ARE@CR 2SiEd eot@ ¢l @3
TR ST AAfFFEg FolE
(S5

(C) CIITT &AFCER I (ST B
Reslfe 4t

(D) faesaes S cofza e EIA 75
a4l

94. fanfelowlE T @ )F 1988 A
IPCC 2fsfre w2

(A) UNEP ¢k WMO
(B) UNDP @<t UNESCO
(C) UNICEF @<k FAO
(D) USEPA @3} IMF

95. O F© AT A& Wearel Al 2
i e afowrfe weee

(A) 2050
(B) 2060
(©) 2070
(D) 2040

96. T TRIHZT(CO, )G B2 (CH,)
Tl SReracea wFrel

(A) 40 — 50 @er &
(B) 20 — 25 &7 (A
(C) 5 - 10 %K @

(D) 30 — 40 & @
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97. The Keeling curve is about

(A) graph showing depletion of ozone
is stratosphere in last 30 years

(B) records of global Carbon dioxide
concentration in atmosphere

(C) graph showing biodiversity
depletion

(D) records of rising temperature due
to climate change

98. One of the important mechanisms of Kyoto
Protocol is

(A) cooperation among nations for
biodiversity conservation

(B) carbon trading
(C) protection of ozone layer

(D) strict adherence to Environmental
Impact Assessment

99. ‘BharatStage Emission Standard-VI’
(BS VI) was implemented in India in
which year?

(A) 2015

(B) 2017

(C) 2020

(D) 2022

100. Out of the nine planetary boundaries
(Rockstorm et al, 2009; published in Nature),
which of the following category has crossed the
safe boundary limit?

(A) Biodiversity loss, Biogeochemical
flow boundary (Nitrogen and
Phosphorus cycle), Climate change

(B) Ozone depletion, Ocean
acidification, Chemical pollution

(C) Atmospheric aerosol loading,
Change in land use, Global
freshwater use

(D) Ocean acidification, Ozone
depletion, Global freshwater use

X-26

97. ek @aifba =51

(A) 7S 30 9= FIGIFFIIE €= @
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